# DIFFERENTIAL EQUATIONS AND ZEROS FOR NEW MIXED-TYPE HERMITE POLYNOMIALS 

JUNG YOOG KANG


#### Abstract

In this paper, we find induced differential equations to give explicit identities of these polynomials from the generating functions of 2 -variable mixed-type Hermite polynomials. Moreover, we observe the structure and symmetry of the zeros of the 2-variable mixed-type Hermite equations.


AMS Mathematics Subject Classification : 05A19, 11B83, 34A30, 65L99.
Key words and phrases : Differential equations, 2-variable mixed-type Hermite polynomials, Hermite polynomials.

## 1. Introduction

The ordinary Hermite numbers $H_{n}$ and Hermite polynomials $H_{n}(v)$ are usually defined by the generating functions

$$
e^{t(2 v-t)}=\sum_{n=0}^{\infty} H_{n}(v) \frac{t^{n}}{n!}, \quad e^{-t^{2}}=\sum_{n=0}^{\infty} H_{n} \frac{t^{n}}{n!}
$$

respectively. Clearly, $H_{n}=H_{n}(0)$.
It can be seen that these numbers and polynomials play an important role in various fields of mathematics, applied mathematics, and physics, including number theory, combinations, special functions, and differential equations. Various interesting properties about them are obtained, see [1]-[3]. The ordinary Hermite polynomials $H_{n}(u)$ satisfy the Hermite differential equation

$$
\frac{d^{2} H(v)}{d v^{2}}-2 v \frac{d H(v)}{d v}+2 n H(v)=0, n=0,1,2, \ldots
$$

[^0]We recall that the 2-variable Hermite polynomials $H_{n}(v, w)$ defined by the generating function(see [2])

$$
\begin{equation*}
\sum_{n=0}^{\infty} H_{n}(v, w) \frac{t^{n}}{n!}=e^{t(v+w t)} \tag{1}
\end{equation*}
$$

are the solution of heat equation

$$
\begin{equation*}
\frac{\partial}{\partial w} H_{n}(v, w)=\frac{\partial^{2}}{\partial v^{2}} H_{n}(v, w), \quad H_{n}(v, 0)=v^{n} . \tag{2}
\end{equation*}
$$

Observe that

$$
H_{n}(2 v,-1)=H_{n}(v)
$$

Motivated by their importance and potential for applications in certain problems in probability, combinatorics, number theory, differential equations, numerical analysis and other areas of mathematics and physics, several kinds of some special numbers and polynomials were recently studied by many authors, see [1]-[4]. Many mathematicians have studied the area of the degenerate Bernoulli polynomials, degenerate Euler polynomials, degenerate Genocchi polynomials, and degenerate tangent polynomials, see [4]-[8]. Mixed-type Hermit polynomials, which differ from the results of studies of [10], will be introduced. In this paper, we can see the properties related to the mixed-type Hermit polynomials and mixed-type Hermit polynomials is a solution of differential equation of certain initial value problems.

In [11], Hwang and Ryoo proposed the 2 -variable degenerate Hermite polynomials $\mathcal{H}_{n}(v, w, \lambda)$ by means of the generating function

$$
\begin{equation*}
\sum_{n=0}^{\infty} \mathcal{H}_{n}(v, w, \lambda) \frac{t^{n}}{n!}=(1+\lambda) \frac{v t+w t^{2}}{\lambda} \tag{3}
\end{equation*}
$$

Since $(1+\lambda)^{\frac{t}{\lambda}} \rightarrow e^{t}$ as $\lambda \rightarrow 0$, it is evident that (3) reduces to (1). The 2 variable degenerate Hermite polynomials $\mathcal{H}_{n}(v, w, \lambda)$ in generating function (3) are the solution of equation

$$
\begin{align*}
& \left(\frac{\log (1+\lambda)}{\lambda}\right) \frac{\partial}{\partial v} \mathcal{H}_{n}(v, w, \lambda)=\frac{\partial^{2}}{\partial v^{2}} \mathcal{H}_{n}(v, w, \lambda) \\
& \mathcal{H}_{n}(v, 0, \lambda)=\left(\frac{\lambda}{\log (1+\lambda)}\right)^{n} v^{n} \tag{4}
\end{align*}
$$

Since $\frac{\lambda}{\log (1+\lambda)} \rightarrow 1$ as $\lambda$ approaches to 0 , it is apparent that (4) descends to (2).

The differential equations arising from the generating functions of special numbers and polynomials were also studied, see [8]-[14]. Hermit polynomials are well known as they play a very important role in mathematical and physical engineering fields. When $\lambda \rightarrow 1$, the mixed-type Hermit polynomials become Hermit polynomials. Therefore, the study of mixed-type Hermit polynomials is
one of the important studies to understand the characteristics of Hermit polynomials.

This paper is organized as follows. In Section 2, the zeros of the 2-variable mixed-type Hermite equations by using the computer are introduced. Furthermore, we observe the pattern of scattering phenomenon for the zeros of 2-variable mixed-type Hermite equations. Our paper ends with Section 3, where the conclusions and future directions of this work are presented.

## 2. Differential equations associated with 2-variable mixed-type Hermite polynomials

In this section, we construct the differential equations with coefficients $a_{i}(N, u, v, \lambda)$ arising from the generating functions of the 2-variable mixed-type Hermite polynomials:

$$
\begin{aligned}
& \left(\frac{\partial}{\partial t}\right)^{N} \mathfrak{G}(t, u, v \mid \lambda)-a_{0}(N, u, v, \lambda)\left(1+\lambda t^{2}\right)^{-N} \mathfrak{G}(t, u, v \mid \lambda) \\
& -a_{1}(N, u, v, \lambda)\left(1+\lambda t^{2}\right)^{-N} t^{2} \mathfrak{G}(t, u, v \mid \lambda)-\cdots \\
& -a_{2 N}(N, u, v, \lambda)\left(1+\lambda t^{2}\right)^{-N} t^{2 N} \mathfrak{G}(t, u, v \mid \lambda)=0
\end{aligned}
$$

By using the coefficients of this differential equation, we derive explicit identities for the 2-variable mixed-type Hermite polynomials $\mathbf{H}_{n}(u, v, \lambda)$. Recall that

$$
\begin{equation*}
\mathfrak{G}=\mathfrak{G}(t, u, v \mid \lambda)=e^{u t}\left(1+\lambda t^{2}\right) \frac{v}{\lambda}=\sum_{n=0}^{\infty} \mathbf{H}_{n}(u, v, \lambda) \frac{t^{n}}{n!}, \quad \lambda, u, v, t \in \mathbb{C} . \tag{5}
\end{equation*}
$$

Then, by (5), we have

$$
\begin{align*}
\mathfrak{G}(t, u, v \mid \lambda)^{(1)} & =\frac{\partial}{\partial t} \mathfrak{G}(t, u, v \mid \lambda)=\frac{\partial}{\partial t}\left(e^{u t}\left(1+\lambda t^{2}\right) \frac{v}{\lambda}\right) \\
& =\left(u+\frac{2 v t}{1+\lambda t^{2}}\right) e^{u t}\left(1+\lambda t^{2}\right) \frac{v}{\lambda}=\left(\frac{u+2 v t+u \lambda t^{2}}{1+\lambda t^{2}}\right) \mathfrak{G}(t, u, v \mid \lambda) \tag{6}
\end{align*}
$$

$$
\begin{align*}
\mathfrak{G}^{(2)}= & \frac{\partial}{\partial t} \mathfrak{G}^{(1)}(t, u, v \mid \lambda) \\
= & \left(\frac{u^{2}+2 v}{\left(1+\lambda t^{2}\right)^{2}}\right) \mathfrak{G}(t, u, v \mid \lambda)+\left(\frac{4 u v}{\left(1+\lambda t^{2}\right)^{2}}\right) t \mathfrak{G}(t, u, v \mid \lambda) \\
& +\left(\frac{2 u^{2} \lambda-2 v \lambda+4 v^{2}}{\left(1+\lambda t^{2}\right)^{2}}\right) t^{2} \mathfrak{G}(t, u, v \mid \lambda)+\left(\frac{4 u v \lambda}{\left(1+\lambda t^{2}\right)^{2}}\right) t^{3} \mathfrak{G}(t, u, v \mid \lambda)  \tag{7}\\
& +\left(\frac{u^{2} \lambda^{2}}{\left(1+\lambda t^{2}\right)^{2}}\right) t^{4} \mathfrak{G}(t, u, v \mid \lambda)
\end{align*}
$$

Continuing this process which is already shown in (7), we can guess that

$$
\begin{align*}
\mathfrak{G}^{(N)} & =\left(\frac{\partial}{\partial t}\right)^{N} \mathfrak{G}(t, u, v \mid \lambda) \\
& =\sum_{i=0}^{2 N} a_{i}(N, u, v, \lambda)\left(1+\lambda t^{2}\right)^{-N} t^{i} \mathfrak{G}(t, u, v \mid \lambda),(N=0,1,2, \ldots) . \tag{8}
\end{align*}
$$

Differentiating (8) with respect to $t$, we have

$$
\begin{align*}
& \mathfrak{G}^{(N+1)}=\frac{\partial \mathfrak{G}(t, u, v \mid \lambda)}{\partial t} \\
&= \sum_{i=0}^{2 N} a_{i}(N, u, v, \lambda)(i) t^{i-1}\left(1+\lambda t^{2}\right)^{-N} \mathfrak{G}(t, u, v \mid \lambda) \\
&+\sum_{i=0}^{2 N} a_{i}(N, u, v, \lambda) t^{i}(-N)(2 \lambda t)\left(1+\lambda t^{2}\right)^{-N-1} \mathfrak{G}(t, u, v \mid \lambda) \\
&+\sum_{i=0}^{2 N} a_{i}(N, u, v, \lambda) t^{i}\left(1+\lambda t^{2}\right)^{-N} \mathfrak{G}^{(1)}(t, u, v, \mid \lambda) \\
&= \sum_{i=0}^{2 N-1}(i+1) a_{i+1}(N, u, v, \lambda) t^{i}\left(1+\lambda t^{2}\right)^{-(N+1)} \mathfrak{G}(t, u, v \mid \lambda) \\
&+\sum_{i=0}^{2 N}(u) a_{i}(N, u, v, \lambda) t^{i}\left(1+\lambda t^{2}\right)^{-(N+1)} \mathfrak{G}(t, u, v \mid \lambda) \\
& \quad+\sum_{i=1}^{2 N+1}(2 v-2 N \lambda+(i-1) \lambda) a_{i-1}(N, u, v, \lambda) t^{i}\left(1+\lambda t^{2}\right)^{-(N+1)} \mathfrak{G}(t, u, v \mid \lambda) \\
&+\sum_{i=2}^{2 N+2}(u \lambda) a_{i-2}(N, u, v, \lambda) t^{i}\left(1+\lambda t^{2}\right)^{-(N+1)} \mathfrak{G}(t, u, v \mid \lambda) \tag{9}
\end{align*}
$$

Now replacing $N$ by $N+1$ in (8), we find

$$
\begin{equation*}
\mathfrak{G}^{(N+1)}=\sum_{i=0}^{2 N+2} a_{i}(N+1, u, v, \lambda) t^{i}\left(1+\lambda t^{2}\right)^{-(N+1)} \mathfrak{G}(t, u, v \mid \lambda) \tag{10}
\end{equation*}
$$

Comparing the coefficients on both sides of (9) and (10), we obtain

$$
\begin{equation*}
a_{0}(N+1, u, v, \lambda)=a_{1}(N, u, v, \lambda)+u a_{0}(N, u, v, \lambda) \tag{11}
\end{equation*}
$$

$$
\begin{equation*}
a_{1}(N+1, u, v, \lambda)=2 a_{2}(N, u, v, \lambda)+u a_{1}(N, u, v, \lambda)+(2 v-2 N \lambda) a_{0}(N, u, v, \lambda) \tag{12}
\end{equation*}
$$

For $2 \leq i \leq 2 N-1$, we obtain

$$
\begin{align*}
a_{i}(N+1, u, v, \lambda)= & (i+1) a_{i+1}(N, u, v, \lambda)+u a_{i}(N, u, v, \lambda) \\
& +(2 v-2 N \lambda+(i-1) \lambda) a_{i-1}(N, u, v, \lambda)  \tag{13}\\
& +(u \lambda) a_{i-2}(N, u, v, \lambda)
\end{align*}
$$

For $i=2 N$, we obtain

$$
\begin{align*}
a_{2 N}(N+1, u, v, \lambda) & =u a_{2 N}(N, u, v, \lambda)+(2 v-\lambda) a_{2 N-1}(N, u, v, \lambda) \\
& +(u \lambda) a_{2 N-2}(N, u, v, \lambda) \tag{14}
\end{align*}
$$

For $i=2 N+1$, we obtain

$$
\begin{equation*}
a_{2 N+1}(N+1, u, v, \lambda)=(2 v) a_{2 N}(N, u, v, \lambda)+(u \lambda) a_{2 N-1}(N, u, v, \lambda) \tag{15}
\end{equation*}
$$

For $i=2 N+2$, we obtain

$$
\begin{equation*}
a_{2 N+2}(N+1, u, v, \lambda)=(u \lambda) a_{2 N}(N, u, v, \lambda) \tag{16}
\end{equation*}
$$

In addition, by (8), we have

$$
\begin{equation*}
\mathfrak{G}(t, u, v \mid \lambda)=\mathfrak{G}^{(0)}(t, u, v \mid \lambda)=a_{0}(0, u, v, \lambda) \mathfrak{G}(t, u, v \mid \lambda) . \tag{17}
\end{equation*}
$$

By (17), we get

$$
\begin{equation*}
a_{0}(0, u, v, \lambda)=1 \tag{18}
\end{equation*}
$$

It is not difficult to show that

$$
\begin{align*}
& u\left(1+\lambda t^{2}\right)^{-1} \mathfrak{G}(t, u, v \mid \lambda)+2 v t\left(1+\lambda t^{2}\right)^{-1} \mathfrak{G}(t, u, v \mid \lambda)+u \lambda t^{2}\left(1+\lambda t^{2}\right)^{-1} \mathfrak{G}(t, u, v \mid \lambda) \\
& =a_{0}(1, u, v, \lambda)\left(1+\lambda t^{2}\right)^{-1} \mathfrak{G}(t, u, v \mid \lambda)+a_{1}(1, u, v, \lambda) t\left(1+\lambda t^{2}\right)^{-1} \mathfrak{G}(t, u, v \mid \lambda) \\
& \quad+a_{2}(1, u, v, \lambda) t^{2}\left(1+\lambda t^{2}\right)^{-1} \mathfrak{G}(t, u, v \mid \lambda) \tag{19}
\end{align*}
$$

Thus, by (6) and (19), we also get

$$
\begin{equation*}
a_{0}(1, u, v, \lambda)=u, \quad a_{1}(1, u, v, \lambda)=2 v, \quad a_{2}(1, u, v, \lambda)=u \lambda \tag{20}
\end{equation*}
$$

From (11), we note that

$$
\begin{align*}
& a_{0}(N+1, u, v, \lambda)=a_{1}(N, u, v, \lambda)+u a_{0}(N, u, v, \lambda) \\
& a_{0}(N, u, v, \lambda)=a_{1}(N-1, u, v, \lambda)+u a_{0}(N-1, u, v, \lambda) \\
& \ldots  \tag{21}\\
& a_{0}(N+1, u, v, \lambda)=\sum_{i=0}^{N} u^{i} a_{1}(N-i, u, v, \lambda)+u^{N+1}
\end{align*}
$$

From (12), we note that

$$
\begin{align*}
& a_{1}(N+1, u, v, \lambda)=2 a_{2}(N, u, v, \lambda)+u a_{1}(N, u, v, \lambda)+(2 v-2 N \lambda) a_{0}(N, u, v, \lambda), \\
& a_{1}(N, u, v, \lambda)=2 a_{2}(N-1, u, v, \lambda)+u a_{1}(N-1, u, v, \lambda) \\
& +(2 v-2(N-1) \lambda) a_{0}(N-1, u, v, \lambda), \\
& \cdots, \\
& a_{1}(N+1, u, v, \lambda) \\
& =2 \sum_{i=0}^{N} u^{i} a_{2}(N-i, u, v, \lambda)+\sum_{i=0}^{N} u^{i}(2 v-2(N-i) \lambda) a_{0}(N-i, u, v, \lambda) \text {. } \tag{22}
\end{align*}
$$

From (14), we have

$$
\begin{align*}
& a_{2 N}(N+1, u, v, \lambda) \\
& =u a_{2 N}(N, u, v, \lambda)+(2 v-\lambda) a_{2 N-1}(N, u, v, \lambda)+(u \lambda) a_{2 N-2}(N, u, v, \lambda) \text {, } \\
& a_{2 N-2}(N, u, v, \lambda)=u a_{2 N-2}(N-1, u, v, \lambda)+(2 v-\lambda) a_{2 N-3}(N-1, u, v, \lambda) \\
& +(u \lambda) a_{2 N-4}(N-1, u, v, \lambda), \ldots, \\
& a_{2 N}(N+1, u, v, \lambda)=u \sum_{i=0}^{N}(u \lambda)^{i} a_{2 N-2 i}(N-i, u, v, \lambda) \\
& +(2 v-\lambda) \sum_{i=0}^{N-1}(u \lambda)^{i} a_{2 N-(2 i+1)}(N-i, u, v, \lambda) . \tag{23}
\end{align*}
$$

Again, by (15), we have

$$
\begin{align*}
& a_{2 N+1}(N+1, u, v, \lambda)=(2 v) a_{2 N}(N, u, v, \lambda)+(u \lambda) a_{2 N-1}(N, u, v, \lambda) \\
& a_{2 N-1}(N, u, v, \lambda)=(2 v) a_{2 N-2}(N-1, u, v, \lambda)+(u \lambda) a_{2 N-3}(N-1, u, v, \lambda), \ldots, \\
& a_{2 N+1}(N+1, u, v, \lambda)=(2 v) \sum_{i=0}^{N-1}(u \lambda)^{i} a_{2 N-2 i}(N-i, u, v, \lambda)+(2 v)(u \lambda)^{N} \tag{24}
\end{align*}
$$

From (16), we have

$$
\begin{align*}
& a_{2 N+2}(N+1, u, v, \lambda)=(u \lambda) a_{2 N}(N, u, v, \lambda) \\
& a_{2 N}(N, u, v, \lambda)=(u \lambda) a_{2 N-2}(N-1, u, v, \lambda), \ldots  \tag{25}\\
& a_{2 N+2}(N+1, u, v, \lambda)=(u \lambda)^{N+1}
\end{align*}
$$

Continuing this process, we can deduce that, for $2 \leq i \leq 2 N-1$,

$$
\begin{align*}
a_{i}(N+1, u, v, \lambda)= & (i+1) \sum_{k=0}^{N} u^{i} a_{i+1}(N-k, u, v, \lambda) \\
& +(2 v+\lambda(i-2 N-1)) \sum_{k=0}^{N} u^{i} a_{i-1}(N-k, u, v, \lambda)  \tag{26}\\
& +(u \lambda) \sum_{k=0}^{N} u^{i} a_{i-2}(N-k, u, v, \lambda)
\end{align*}
$$

Note that, here the matrix $a_{i}(N, u, v, \lambda)_{0 \leq i \leq 2 N+2,0 \leq j \leq N+1}$ is given by


Therefore, by (18)-(26), we obtain the following theorem.
Theorem 2.1. For $N=0,1,2, \ldots$, the differential equation

$$
\left(\frac{\partial}{\partial t}\right)^{N} \mathfrak{G}(t, u, v \mid \lambda)-\sum_{i=0}^{N} a_{i}(N, u, v, \lambda)\left(1+\lambda t^{2}\right)^{-N} t^{i} \mathfrak{G}(t, u, v \mid \lambda)=0
$$

has a solution

$$
\mathfrak{G}=\mathfrak{G}(t, u, v \mid \lambda)=e^{u t}\left(1+\lambda t^{2}\right) \frac{v}{\lambda}
$$

where

$$
\begin{aligned}
& a_{0}(N+1, u, v, \lambda)= \sum_{i=0}^{N} u^{i} a_{1}(N-i, u, v, \lambda)+u^{N+1}, \\
& a_{1}(N+1, u, v, \lambda)= 2 \sum_{i=0}^{N} u^{i} a_{2}(N-i, u, v, \lambda) \\
&+\sum_{i=0}^{N} u^{i}(2 v-2(N-i) \lambda) a_{0}(N-i, u, v, \lambda), \\
& a_{2 N}(N+1, u, v, \lambda)= u \sum_{i=0}^{N}(u \lambda)^{i} a_{2 N-2 i}(N-i, u, v, \lambda) \\
&+(2 v-\lambda) \sum_{i=0}^{N-1}(u \lambda)^{i} a_{2 N-(2 i+1)}(N-i, u, v, \lambda), \\
& a_{2 N+1}(N+1, u, v, \lambda)=(2 v) \sum_{i=0}^{N-1}(u \lambda)^{i} a_{2 N-2 i}(N-i, u, v, \lambda)+(2 v)(u \lambda)^{N}, \\
& a_{2 N+2}(N+1, u, v, \lambda)=(u \lambda)^{N+1}, \\
& a_{i}(N+1, u, v, \lambda)=(i+1) \sum_{k=0}^{N} u^{i} a_{i+1}(N-k, u, v, \lambda) \\
&+(2 v+\lambda(i-2 N-1)) \sum_{k=0}^{N} u^{i} a_{i-1}(N-k, u, v, \lambda) \\
&+(u \lambda) \sum_{k=0}^{N} u^{i} a_{i-2}(N-k, u, v, \lambda),(2 \leq i \leq 2 N-1) .
\end{aligned}
$$

Here is a plot of the surface for this solution. In Figure 1(A), we choose


$$
\text { (A) }-\lambda=1 / 3 \text { and } v=1
$$


(B) $\lambda=1 / 2$ and $u=4$.

Figure 1. The surface for the solution $\mathcal{G}(t, u, v, \lambda)$
$-2 \leq u \leq 2,-\frac{1}{10} \leq t \leq \frac{1}{10}, \lambda=1 / 3$, and $v=1$. In Figure $1(\mathrm{~B})$, we choose $-1 \leq v \leq 1,-\frac{1}{2} \leq t \leq \frac{1}{2}, \lambda=1 / 2$, and $u=4$.

Making $N$-times derivative for (5) with respect to $t$, we have

$$
\begin{equation*}
\left(\frac{\partial}{\partial t}\right)^{N} \mathfrak{G}(t, u, v \mid \lambda)=\sum_{m=0}^{\infty} \mathbf{H}_{m+N}(u, v, \lambda) \frac{t^{m}}{m!} \tag{27}
\end{equation*}
$$

By (27) and Theorem 7, we have

$$
\begin{aligned}
& a_{0}(N, u, v, \lambda)\left(1+\lambda t^{2}\right)^{-N} \mathcal{G}(t, u, v, \lambda)+a_{1}(N, u, v, \lambda)\left(1+\lambda t^{2}\right)^{-N} t \mathcal{G}(t, u, v, \lambda) \\
& +\cdots \\
& +a_{2 N-1}(N, u, v, \lambda)\left(1+\lambda t^{2}\right)^{-N} t^{2 N-1} \mathcal{G}(t, u, v, \lambda)+a_{2 N}(N, u, v, \lambda)\left(1+\lambda t^{2}\right)^{-N} t^{2 N} \mathcal{G}(t, u, v, \lambda) \\
& =\sum_{m=0}^{\infty} \mathbf{H}_{m+N}(u, v, \lambda) \frac{t^{m}}{m!}
\end{aligned}
$$

Hence we have the following theorem.
Theorem 2.2. For $N=0,1,2, \ldots$, and $0 \leq m \leq 2 N$, we get

$$
\begin{equation*}
\sum_{k=0}^{\left[\frac{m}{2}\right]}(N)_{k} \lambda^{k} \mathbf{H}_{N+m-2 k}(u, v, \lambda) \frac{m!}{(m-2 k)!k!}=\sum_{i=0}^{m} \frac{\mathbf{H}_{m-i}(u, v, \lambda) a_{i}(N, u, v, \lambda) m!}{(m-i)!} \tag{28}
\end{equation*}
$$

If we take $m=0$ in (28), then we have the below corollary.
Corollary 2.3. For $N=0,1,2, \ldots$, we have

$$
\mathbf{H}_{N}(u, v, \lambda)=a_{0}(N, u, v, \lambda) \mathbf{H}_{0}(u, v, \lambda)=a_{0}(N, u, v, \lambda)
$$

where

$$
\begin{aligned}
& a_{0}(0, u, v, \lambda)=1 \\
& a_{0}(N+1, u, v, \lambda)=\sum_{i=0}^{N} u^{i} a_{1}(N-i, u, v, \lambda)+u^{N+1} .
\end{aligned}
$$

The first few of them are

$$
\begin{aligned}
& \mathbf{H}_{0}(u, v, \lambda)=1 \\
& \mathbf{H}_{1}(u, v, \lambda)=u \\
& \mathbf{H}_{2}(u, v, \lambda)=u^{2}+2 v \\
& \mathbf{H}_{3}(u, v, \lambda)=u^{3}+6 u v \\
& \mathbf{H}_{4}(u, v, \lambda)=u^{4}+12 u^{2} v+12 v^{2}-12 v \lambda \\
& \mathbf{H}_{5}(u, v, \lambda)=u^{5}+20 u^{3} v+60 u v^{2}-60 u v \lambda \\
& \mathbf{H}_{6}(u, v, \lambda)=u^{6}+30 u^{4} v+180 u^{2} v^{2}+120 v^{3}-180 u^{2} v \lambda-360 v^{2} \lambda+240 v \lambda^{2}
\end{aligned}
$$

## 3. Zeros of the 2-variable mixed-type Hermite polynomials

This section shows the benefits of supporting the theoretical prediction through numerical experiments and finding new interesting pattern of the zeros of the 2 -variable mixed-type Hermite equations $\mathbf{H}_{n}(u, v, \lambda)=0$. We use Mathematica in order to obtain numerical results and visualize the roots of $\mathbf{H}_{n}(u, v, \lambda)$. The 2-variable mixed-type Hermite polynomials $\mathbf{H}_{n}(u, v, \lambda)$ can be determined explicitly. We investigate the zeros of the 2 -variable mixed-type Hermite equations $\mathbf{H}_{n}(u, v, \lambda)=0$. The zeros of the $\mathbf{H}_{n}(u, v, \lambda)=0$ for $n=60, v=$ $-2,-2-i, 2+i, 2-i, \lambda=1 / 3$, and $u \in \mathbb{C}$ are displayed in Figure 2. In


Figure 2. Zeros of $\mathbf{H}_{n}(u, v, \lambda)=0$

Figure 2 A , we choose $n=60, \lambda=1 / 3$ and $v=-2$. In Figure 2B, we choose $n=60, \lambda=1 / 3$ and $v=-2-i$. In Figure 2C, we choose $n=60, \lambda=1 / 3$ and $v=2+i$. In Figure 2D, we choose $n=60, \lambda=1 / 3$ and $v=2-i$.

Stacks of zeros of the 2-variable mixed-type Hermite equations $\mathbf{H}_{n}(u, v, \lambda)=0$ for $1 \leq n \leq 60, \lambda=1 / 3$ from a 3 -D structure are presented in Figure 3.


Figure 3. Stacks of zeros of $\mathbf{H}_{n}(u, v, \lambda)=0,1 \leq n \leq 60$

In Figure 3A, we choose $v=-2$. In Figure 3B, we choose $v=2$. In Figure 3C, we choose $v=2+i$. In Figure 3D, we choose $v=2-i$.

Our numerical results for approximate solutions of real zeros of the 2 -variable mixed-type Hermite equations $\mathbf{H}_{n}(u, v, \lambda)=0$ are displayed(Tables 1, 2).

Table 1. Numbers of real and complex zeros of $\mathbf{H}_{n}(u, v, \lambda)=0$

| degree $n$ | $v=-2, \lambda=1 / 3$ |  | $v=2, \lambda=1 / 3$ |  |
| :---: | :---: | :---: | :---: | :---: |
|  | real zeros | complex zeros | real zeros | complex zeros |
| 1 | 1 | 0 | 1 | 0 |
| 2 | 2 | 0 | 0 | 2 |
| 3 | 3 | 0 | 1 | 2 |
| 4 | 4 | 0 | 0 | 4 |
| 5 | 5 | 0 | 1 | 4 |
| 6 | 6 | 0 | 0 | 6 |
| 7 | 7 | 0 | 1 | 6 |
| 8 | 4 | 4 | 0 | 8 |
| 9 | 5 | 4 | 1 | 8 |
| 10 | 6 | 4 | 0 | 10 |
| 11 | 7 | 4 | 1 | 11 |

We observed a remarkable regular structure of the complex roots of the 2-variable mixed-type Hermite equations $\mathbf{H}_{n}(u, v, \lambda)=0$. We are also hoping to verify the
same kind of regular structure of the complex roots of the 2-variable mixed-type Hermite equations $\mathbf{H}_{n}(u, v, \lambda)=0($ Table 1).

Plot of real zeros of the 2-variable mixed-type Hermite equations $\mathbf{H}_{n}(u, v, \lambda)=$ 0 for $1 \leq n \leq 60, \lambda=1 / 3$ structure are presented in Figure 4. In Figure 4A,


Figure 4. Real zeros of $\mathbf{H}_{n}(u, v, \lambda)=0$ for $1 \leq n \leq 60$
we choose $v=-2$. In Figure 4B, we choose $v=2$. In Figure 4C, we choose $v=-2+i$. In Figure 4D, we choose $v=-2-i$.

Next, the approximate solutions satisfying $\mathbf{H}_{n}(u, v, \lambda)=0, u \in \mathbb{C}$ were calculated. The results are given in Table 2. In Table 2, we choose $v=-2$ and $\lambda=1 / 3$.

Table 2. Approximate solutions of $\mathbf{H}_{n}(u, v, \lambda)=0, u \in \mathbb{R}$

| degree $n$ | $u$ |
| :---: | :---: |
| 1 | 0 |
| 2 | -2.0000, 2.0000 |
| 3 | $-3.4641, \quad 0, \quad 3.4641$ |
| 4 | $-4.6239, \quad-1.6184, \quad 1.6184, \quad 4.6239$ |
| 5 | $-5.5637, \quad-3.0076, \quad 0, \quad 3.0076, \quad 5.5637$ |
| 6 | $-6.3144, \quad-4.2490, \quad-1.4403, \quad 1.4403, \quad 4.2490,66.3144, \quad 4.2490,6.3144$ |
| 7 | $-6.8626, \quad-5.4166, \quad-2.7505, \quad 0, \quad 2.7505, \quad 5.4166,6.8626$ |
| 8 | $-3.9639, \quad-1.3353, \quad 1.3353, \quad 3.9639$ |

## 4. Observations and future directions

We constructed differential equations arising from the generating function of the 2 -variable mixed-type Hermite polynomials $\mathbf{H}_{n}(u, v, \lambda)$. We also investigated the symmetry of the zeros of the 2 -variable mixed-type Hermite equations $\mathbf{H}_{n}(u, v, \lambda)=0$ for various variables $u$ and $v$. As a result, the distribution of the zeros of 2-variable mixed-type Hermite equations $\mathbf{H}_{n}(u, v, \lambda)=0$ has a very regular pattern. So, we organize the following series of conjectures with numerical experiments:

Let us use the following notations. $R_{\mathbf{H}_{n}(u, v, \lambda)}$ denotes the number of real zeros of $\mathbf{H}_{n}(u, v, \lambda)=0$ lying on the real plane $\operatorname{Im}(u)=0$ and $C_{\mathbf{H}_{n}(u, v, \lambda)}$ denotes the number of complex zeros of $\mathbf{H}_{n}(u, v, \lambda)=0$. Since $n$ is the degree of the polynomial $\mathbf{H}_{n}(u, v, \lambda)$, we have $R_{\mathbf{H}_{n}(u, v, \lambda)}=n-C_{\mathbf{H}_{n}(u, v, \lambda)}$.

We can observe a stable regular pattern of the complex roots of the 2 -variable mixed-type Hermite equations $\mathbf{H}_{n}(u, v, \lambda)=0$ for $v$ and $\lambda$. Therefore, the following conjecture is possible.

Conjecture 4.1. Let $m$ be odd positive integer. For $a>0$, prove or disprove that

$$
R_{\mathbf{H}_{m}(u, a, \lambda)}=1, \quad C_{\mathbf{H}_{m}(u, a, \lambda)}=2\left[\frac{m}{2}\right]
$$

where $\mathbb{C}$ is the set of complex numbers.
Conjecture 4.2. Let $m$ be odd positive integer and $a \in \mathbb{C}$. Prove or disprove that

$$
\mathbf{H}_{m}(0, a, \lambda)=0
$$

As a result of investigating more $v$ and $\lambda$ variables, it is still unknown whether the conjecture 1 and conjecture 2 is true or false for all variables $v$ and $\lambda$.

We observe that solutions of the 2 -variable mixed-type Hermite equations $\mathbf{H}_{m}(u, b, \lambda)=0$ has the $\operatorname{Re}(u)=0$ reflection symmetry for $b \in \mathbb{R}$. It is expected that solutions of the 2 -variable mixed-type Hermite equations $\mathbf{H}_{m}(u, b, \lambda)=0$ does not obtain a $\operatorname{Re}(u)=b$ reflection symmetry for $b \in \mathbb{C} \backslash \mathbb{R}$ (see Figure 2, Figure 3, Figure 4).

Conjecture 4.3. Prove that the zeros of $\mathbf{H}_{m}(u, a, \lambda)=0, a \in \mathbb{R}$, has $\operatorname{Im}(u)=$ 0 reflection symmetry analytic complex functions. Prove that the zeros of $\mathbf{H}_{m}(u, a, \lambda)=0, a \in \mathbb{C} \backslash \mathbb{R}$, has not $\operatorname{Im}(u)=0$ reflection symmetry analytic complex functions.

Finally, we consider a more general problem. How many zeros does $\mathbf{H}_{m}(u, v, \lambda)$ have? We are not able to decide if $\mathbf{H}_{n}(u, v, \lambda)=0$ has $n$ distinct solutions. We would like to know the number of complex zeros $C_{\mathbf{H}_{m}(u, v, \lambda)}$ of $\mathbf{H}_{m}(u, v, \lambda)=0$.
Conjecture 4.4. For $a \in \mathbb{C}$, prove or disprove that $\mathbf{H}_{m}(u, a, \lambda)=0$ has $n$ distinct solutions.

As a result of investigating more $m$ variables, it is still unknown whether the conjecture is true or false for all variables $m$ (see Tables 1 and 2 ).

Conflicts of interest : The author declares no conflict of interest.
Data availability : Not applicable

## References

1. L.C. Andrews, Special Functions for Engineers and Mathematicians, Macmillan. Co., New York, USA, 1985.
2. P. Appell, J. Hermitt Kampé de Fériet, Fonctions Hypergéométriques et Hypersphériques: Polynomes d Hermite, Gauthier-Villars, Paris, France, 1926.
3. G. Arfken, Mathematical Methods for Physicists, 3rd ed., Academic Press, Orlando, FL, USA, 1985.
4. G. Dattoli, Generalized polynomials operational identities and their applications, J. Comput. Appl. Math. 118 (2000), 111-123.
5. Zhiliang Deng, Xiaomei Yang, Convergence of spectral likelihood approximation based on $q$-Hermite polynomials for Bayesian inverse problems, Proc. Amer. Math. Soc. 150 (2022), 4699-4713.
6. L. Carlitz, Degenerate Stiling, Bernoulli and Eulerian numbers, Utilitas Math. 15 (1979), 51-88.
7. P.T. Young, Degenerate Bernoulli polynomials, generalized factorial sums, and their applications, J. Number Theorey 128 (2008), 738-758.
8. M. Cenkci, F.T. Howard, Notes on degenerate numbers, Discrete Math. 307 (2007), 23952375.
9. C. Cesarano, W. Ramirez, S. Khan, A new class of degenerate Apostol-type Hermite polynomials and applications, Dolomites Research Notes on Approximation 2022 (2022), 1-10.
10. C.S. Ryoo, R.P. Agarwal, J.Y. Kang, Some properties involving 2-variable modified partially degenerate Hermite polynomials derived from differential equations and distribution of their zeros, Dynamic Systems and Applications 29 (2020), 248-269.
11. K.W. Hwang, C.S. Ryoo, Some identities involving two-variable degenerate Hermite polynomials induced from differential equations and structure of their roots, Mathematics 8 (2020), 632. doi:10.3390/math8040632
12. T. Kim, D.S. Kim, H.I. Kwon, C.S. Ryoo, Differential equations associated with Mahler and Sheffer-Mahler polynomials, Nonlinear Funct. Anal. Appl. 24 (2019), 453-462.
13. C.S. Ryoo, A numerical investigation on the structure of the zeros of the degenerate Eulertangent mixed-type polynomials, J. Nonlinear Sci. Appl. 10 (2017), 4474-4484.
14. C.S. Ryoo, Some identities involving Hermitt Kampé de Fériet polynomials arising from differential equations and location of their zeros, Mathematics 7 (2019). doi:10.3390/math7010023

Jung Yoog Kang received M.Sc. and Ph.D. at Hannam University. Her research interests are complex analysis, quantum calculus, special functions, differential equation, and analytic number theory.
Department of Mathematics Education, Silla University, Busan, Korea.
e-mail: jykang@silla.ac.kr


[^0]:    Received April 21, 2023. Revised June 14, 2023. Accepted July 8, 2023.
    (C) 2023 KSCAM.

